VEAR 7 — PLACE VALUE AND PROPORTION
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By

the end of this unit you should be. able to:
Understand place value and the number system
incuding decimals
Understand and use place value for decimas,
integers and measures of any size
Order number and use a number Ine. for positive
and reggtive integers, fractions and decimas;
wse the symbok =, #, <, >
Work with terminating decimals and their
corresponding fractions
Round numbers to an appropriate degree of
aceuracy
Describe, interpret dand compare data
dstributions using the median and range
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Placeholder //

I Three bilion, one. hundred and forty eight million,

Ordering integers and decimals

5475 1o the nearest 10

thirty three thousand and twenty nine ' 1 g - '
i . t sooo 5400 100 %470 1 5450
[ bilion |, 000, 000, 000
: I mion | 000, 000 L o |
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IEOI_Y] —WZ Bt— — _US_iﬂ— - ; T : Range  spreao of tre vates : : Median 77 madk vae |
: P ) _0) 257 | Diference betvieen the biggest and smalest | | Exampk | Medan: pittheinorder 3 4 8 9 12 :
| ; Zfa{gf/t]han Two and a half million @ 2500 000 : 139 8 12 4 3788 find the midde rumber 3 4 9 12 I
| = equalto 300000000 @ Treebilon | | Range: Biggest vabe — Smalest vale I |
o @ | 2-3-9 |1 Exampk 2 Median: put the in order |
| % ot equal to Sixthousand and eighty 68000 | | arve - 4 || B0 b4 s 37 \48|56 160 |
I_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_I‘: _ 9: —_—— = — == ﬂl | 157 160 158 There are 2 middle numbers I
| De(‘,lm& oes ® tenths hundredths | : Find the midpoint 52 |
I [ ] I __________________________________________j
| ®e TN |
| "nought. port five two’ l , 11 Decimal intervals on a number ine |
| ' ! Ore whole spit into 10 parts mokes terths = 0.1 |
0 ones,  tenth and 2 hundredths | _ |
: Five tenths and two 0+0l+0l+0l+0l+0l+00l+00l : | One Lenth spit o 0 pats mokes fundredtts - 001 |
| hundredths -0+05+002 I| T T T T 1 | B R S E— |
, - 052 | O 010203040506070809 1 |
] Comparin Which the largest of 0.3 and 0.237 1-SRAVLEYL AL I
: d—P—@ T 002 004 006 008 Q01 |
1 ones & Tentrs | hundreaths 0.3>0.23 : : UL L L AL A L. :
I “There are more canters in the furthest 1 0 02040608 1 12141618 2 |
| 0 cobmn to the ft’ L ]
I ® '0-1 I l _________________________________________ I
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l (o |1 Round to | significant figure |
I 030 Comparing the. values both with 1 ‘ o I
I Oes § Terths | fordedis | 023 the some rurer of ceomal | | 370 to I'significant figure s 400 |
: ? - places is ancther “ o |1 37 to lsgnficant figure s 40 | Randtothe fistron | |
o 601 oi compare the nurber oftents 1 1 3.7 45 | ggnficant fgure 15 4 zero number '
| 001 0.0 and hundredths | 9 8 |
I T ol @ : | 037 to Isignficant figure is 04 |
' — I 000000037 to | significant figure i 00000004 |
| 9 9
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11 Peuwords |
Il QOpproximate. To estimate a number, amount or total often using rounding of numbers to make them easier 1o calculate with |
: : Integer: a whole rumber that is positive or negotive |
I Interval: between two poirts or values [
I Median: O measure of central tendency (midde, average) found by putting dl the data valves in order and finding the middle :
I vale of the Ist
I Negative: Ony number less than zero, written with a minus sign :
| | Place holder: We use 0 as a place holder to show that there are none of a particulor place in a number |
| 1 Place value: The valve. of a digit depending on its place. in a rumber. In our decimal number system, edch place. is 10 times |
I bigger than the place to its right |
Il Range.: The difference between the largest and smallest numbers in g set |
: I Sigrificant figure: O gt that gves mearing to a number The most signficant it (figire) in an integer ' the nomper on |
| : the kft. The most significant digit in a decimal fraction is the first non-zero number after the decimal point :
- 4
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I ' | . l . . Divide the difference by the number of intervats (gaps) I
H 0O 2 4 @ » 100 B9 100+5-20 I
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